—_RU—=-4 ( 4B 21B £i&: A4 FimB 228 £15: fkAT
1 2 3
D g A Py Hrh
E 7 —h FER R
B [ Xt 4 E ¥#
9:00 kA 2 — 1 Fish —p G
10:10 7 3 — 1 ElRe £ A AAR
11:30 weles 0 — 0 L AP EEY
12:40 — 2 — 0 RR&E+$ A me
14:00 fRE 4 — 2 g eh R —th
15:10 7 P 1 — 0 —/ M 8RB
D Wi frEAR 244 A5
E I 7R 21 —*Hp
REfb—FAVE ( 4H288 £15 . kA4 FHBE298 £15 : fkAS
|
13:00
VY. B— - BoHSOBTF—A
9:00 10:10
®H: EH A =¥ —th R
il -
— A ™~
5 h h h
} B E— ECHSOBLEF— A :
] 14:10 1
| _ |
I 1
I con con oo ooy cEn =D G W= S G S r ———————————
I
BE—Ni =4 E=4L

)

)



